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§8.2 ����
O�%_N#X)JA^���6ggUR#3hi$YSj	*�i$�n'�#F����~.��V(B	aURF#4z�m� 8.2.1 
{�_N V #=f3h α1, α2, · · · , αm oe

(αi, αj) = 0, (i 6= j; i, j = 1, 2, · · · ,m),Q�$= �r�w�. �Eoe
|αi| = 1(i = 1, 2, · · · ,m),Q�$ k��r�w�.mu 8.2.1 {�_N V ^#UR3hf�17(:��y 
 α1, α2, · · · , αm � V ^=6UR3hf��

a1α1 + a2α2 + · · ·+ amαm = 0.Q+I�A# i(1 ≤ i ≤ m), G
(a1α1 + a2α2 + · · ·+ amαm, αi) = 0., (αi, αj) = 0, 9 ai(αi, αi) = 0. C$ αi 6= 0, 9 ai = 0. 2m� 8.2.2 {�_N V ^=6ggUR#3hf8�#F�$URF��URF#p63h)��&3h�Q�$ k��rp.v 1 O{�_N R

n ^� ε1, ε2, · · · , εn �=6	aURF�3hf ε1, 2ε2, · · · , nεn �=6URF� Æ�=6	aURF�3hf α1 = (1, 0, 0, · · · , 0)T , α2 = (1, 1, 0, · · · , 0)T ,α3 = (1, 1, 1, · · · , 0)T ,· · ·,
αn = (1, 1, 1, · · · , 1)T �=6F� Æ�URF�O	aURF+�3h#j	^?EwG
��I

α = (α, ξ1)ξ1 + (α, ξ2)ξ2 + · · ·+ (α, ξn)ξn,|^ ξ1, ξ2, · · · , ξn � n %{�_N V #=6	aURF��
��
 α = a1ξ1 + a2ξ2 + · · ·+ anξn. Q
(ξi, α) = (ξi, a1ξ1 + a2ξ2 + · · ·+ anξn) = ai(i = 1, 2, · · · , n).O	aURF+�3h#wGG��O�#
���
 α = a1ξ1 + a2ξ2 + · · · + anξn, β = b1ξ1 +

b2ξ2 + · · ·+ bnξn, Q
(α, β) = a1b1 + a2b2 + · · ·+ anbn,
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<^?
�$ (Parseval $�)

(α, β) = (α, ξ1)(β, ξ1) + (α, ξ2)(β, ξ2) + · · ·+ (α, ξn)(β, ξn).�
��(α, β) = (a1ξ1+a2ξ2+· · ·+anξn, b1ξ1+b2ξ2+· · ·+bnξn) =
∑n

i,j=1 aibj(ξi, ξj) =
∑n

i=1 aibi.+s7\wG#�'a�n8P	aURF#1/�mu 8.2.2(Schmidt �ro) +I{�_N V #=617(:3hf α1, α2, · · · , αs, ��O	aUR3hf γ1, γ2, · · · , γs, Æ"+I�A# r(1 ≤ r ≤ s), dG
〈α1, · · · , αr〉 = 〈γ1, · · · , γr〉.�y +I17(:3hf α1, α2, · · · , αs, Y6 Schmidt URD

β1 = α1, β2 = α2 −
(α2, β1)

(β1, β1)
β1, · · ·

βr = αr −
(αr, β1)

(β1, β1)
β1 −

(αr, β2)

(β2, β2)
β2 − · · · − (αr, βr−1)

(βr−1, βr−1)
βr−1, (r = 3, 4, · · · , s)..�G

〈α1, α2, · · · , αr〉 = 〈β1, β2, · · · , βr〉, (r = 1, 2, · · · , s).+sVt β1, β2, · · · , βs ggUR�+ r h�8<v/��-� (β1, β2) = (α1, α2 − (α2,β1)
(β1,β1)

β1) = (α1, α2)− (α2,α1)
(α1,α1)

(α1, α1) = 0.L
 β1, β2, · · · , βr−1 ggUR�Q
βr = αr −

r−1
∑

i=1

(αr, βi)

(βi, βi)
βiJ β1, β2, · · · , βr−1 ggUR��
��+�A j(1 ≤ j ≤ r − 1),

(βj , βr) = (βj , αr −
∑r−1

i=1
(αr ,βi)
(βi,βi)

βi)

= (βj , αr)− (βj ,
∑r−1

i=1
(αr ,βi)
(βi,βi)

βi)

= (βj , αr)−
∑r−1

i=1
(αr ,βi)
(βi,βi)

(βj , βi)

= (βj , αr)− (αr ,βj)
(βj ,βj)

(βj , βj)

= (βj , αr)− (αr, βj)
= 0

.7\<v/� β1, β2, · · · , βs ggUR�NY6�&D�
γi =

βi

|βi|
(i = 1, 2, · · · , s).Q γ1, γ2, · · · , γs �	aUR3hf�+I�A# r, (r = 1, 2, · · · , s), G

〈α1, · · · , αr〉 = 〈β1, · · · , βr〉 = 〈γ1, · · · , γr〉.
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}x 8.2.1 G0%{�_N�G	aURF�}x 8.2.2 G0%{�_N V #�A	aUR3hf)^`$ V #	aURF��y 
 ξ1, ξ2, · · · , ξr � n(r < n) %{�_N V #	aUR3hf�`��$ V #=6F ξ1, ξ2,

· · ·, ξr, αr+1, · · ·, αn. +S6FhURD��&D�S6>�^ ξ1, ξ2, · · · , ξr Æ��"!	aURF
ξ1, · · · , ξr, ξr+1, · · · , ξn. 2v 2 �J3hf α1 = (1, 1, 1, 1)T , α2 = (1,−2,−3,−4)T , α3 = (1, 2, 2, 3)T $M#=6	aUR3hf�s -
E Schmidt URD1/��J α1, α2, α3 $M#UR3hf�

β1 = α1 = (1, 1, 1, 1)T ,

β2 = α2 −
(α2, β1)

(β1, β1)
β1 = (1,−2,−3,−4)T − 1− 2− 3− 4

1 + 1 + 1 + 1
(1, 1, 1, 1)T

= (1,−2,−3,−4)T + 2(1, 1, 1, 1)T = (3, 0,−1,−2)T ,

β3 = α3 −
(α3, β1)

(β1, β1)
β1 −

(α3, β2)

(β2, β2)
β2

= (1, 2, 2, 3)T − 1 + 2 + 2 + 3

1 + 1 + 1 + 1
(1, 1, 1, 1)T − 3− 2− 6

9 + 1 + 4
(3, 0,−1,−2)T

= (1, 2, 2, 3)T − 2(1, 1, 1, 1)T +
5

14
(3, 0,−1,−2)T = (

1

14
, 0,− 5

14
,
4

14
)T .NQ β1, β2, β3 �&D�"!

γ1 =
1

|β1|
β1 =

1

2
(1, 1, 1, 1)T = (

1

2
,
1

2
,
1

2
,
1

2
),

γ2 =
1

|β2|
β2 =

1√
14

(3, 0,−1,−2)T = (
3√
14

, 0,− 1√
14

,− 2√
14

),

γ3 =
1

|β3|
β3 =

14√
42

(
1

14
, 0,− 5

14
,
4

14
)T = (

1√
42

, 0,− 5√
42

,
4√
42

).

γ1, γ2, γ3 I���3hf�/O℄m n %{�_N V #g6	aURF#f*�
 ξ1, ξ2, · · · , ξn � η1, η2, · · · , ηn � n %{�_N V #g6	aURF� Q ��	aURF ξ1, ξ2, · · · , ξn !	aURF η1, η2, · · · , ηn #>*[T�I
(η1, η2, · · · , ηn) = (ξ1, ξ2, · · · , ξn)Q.K Q = (qij)n×n, Q

δij = (ηi, ηj)
= (q1iξ1 + q2iξ2 + · · ·+ qniξn, q1jξ1 + q2jξ2 + · · ·+ qnjξn)
=

∑n
k=1

∑n
l=1 qkiqlj(ξk, ξl)

=
∑n

k=1

∑n

l=1 qkiqljδkl
=

∑n

k=1 qkiqkj .�? QTQ = E.
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m� 8.2.3 =6 n U
1T Q �$ �r�, �= QTQ = E.mu 8.2.3 
 ξ1, ξ2, · · · , ξn � η1, η2, · · · , ηn � n %{�_N V #g63hf�oe
(η1, η2, · · · , ηn) = (ξ1, ξ2, · · · , ξn)Q,|^ Q � n U
1T�Q

(1) � ξ1, ξ2, · · · , ξn � η1, η2, · · · , ηn � V #	aURF�Q Q �UR[T����	aURF
ξ1, ξ2, · · · , ξn !	aURF η1, η2, · · · , ηn #>*[T�

(2) � ξ1, ξ2, · · · , ξn � V #=6#	aURF� Q �UR[T�Q η1, η2, · · · , ηn <� V #=6	aURF��y (1) F�s#�nI"�
(2) 
 Q �UR[T�I QTQ = E. HC$ (ξk, ξl) = δkl(k, l = 1, 2, · · · , n), �?

(ηi, ηj)
= (q1iξ1 + q2iξ2 + · · ·+ qniξn, q1jξ1 + q2jξ2 + · · ·+ qnjξn)
=

∑n

k=1

∑n

l=1 qkiqlj(ξk, ξl)
=

∑n
k=1

∑n
l=1 qkiqljδkl

=
∑n

k=1 qkiqkj = δij ,

i, j = 1, 2, · · · , n. �? η1, η2, · · · , ηn �=6	aURF� 2mu 8.2.4 (1) URT�^yT�|y[T<$URT�
(2) g6URT#�GE�URT�
(3) =6 n U
1T Q �URT#�3�;�P� QT = Q−1.K n UURT Q = (X1, X2, · · · , Xn), C$ QTQ = E, �? XT

i Xj = δij(i, j = 1, 2, · · · , n).9O{�_N R
n ^� (Xi, Xj) = δij(i, j = 1, 2, · · · , n). S: Q #j3hf�{�_N R

n #	aURF�0X�� X1, X2, · · · , Xn � R
n #	aURF�Q (Xi, Xj) = δij(i, j = 1, 2, · · · , n), I

XT
i Xj = δij(i, j = 1, 2, · · · , n). �? QTQ = E, Q �URT��b� Q �URT#�3�;�P� Q#63hf�{�_N R

n #	aURF�{�_N^3hf#UR^? ;�
 U �{�_N V #{�b_N��=3h β J U ^#�G3hUR�Q�3h β Jb_N U UR�K$ (β, U) = 0. V ^�GJ U UR#3h8�#HBK$ U⊥, I
U⊥ = {β ∈ V | (β, U) = 0}.C$k3hJ�A3hUR��? 0 ∈ U⊥, 9 U⊥ 6= ∅. 
 β1, β2 ∈ U⊥, c ∈ R. +I�A# α ∈ U , G

(β1, α) = 0, (β2, α) = 0. �? (β1 + β2, α) = (β1, α) + (β2, α) = 0. (cβ1, α) = c(β1, α) = 0. 9
β1 + β2 ∈ U⊥, cβ1 ∈ U⊥. S:� U⊥ � V #b_N�b_N U⊥ �$ U # �rltq.mu 8.2.5 
 U �{�_N V #G0%b_N�Q

V = U ⊕ U⊥.�y � α ∈ U ∩ U⊥, Q (α, α) = 0, �? α = 0, C� U ∩ U⊥ = 0.
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+sVt V = U+U⊥. +�A α ∈ V , F n 8.2.1 W���O U #=6	aURF ξ1, ξ2, · · · , ξm.l
β = (α, ξ1)ξ1 + (α, ξ2)ξ2 + · · ·+ (α, ξm)ξm,Q β ∈ U . Hl γ = α− β, Q+�A ξi(1 ≤ i ≤ m), G (γ, ξi) = (α, ξi) − (β, ξi) = 0. �? γ ∈ U⊥,, α = β + γ. �, V = U ⊕ U⊥ �e� 2
E	aURF����n{�_N#�8�{�_N#�8D	�i��17M�!�
�;��wG� m� 8.2.4 
 V, U �g6{�_N� ϕ : V → U �17D	��= ϕ �17_N�8D	�oe�+I�A# α, β ∈ V , G

(ϕ(α), ϕ(β)) = (α, β),Q� ϕ �{�_N# |n�z, <� V, U ��8#{�_N��K$ V ∼= U .{�_N#�8:*oe
(1) 0�7�I V ∼= V ;

(2) +�7�I� V ∼= W , Q W ∼= V ;

(3) �&7�I� V ∼= W , W ∼= U , Q V ∼= U .mu 8.2.6 �A n %{�_N)�8I{�_N R
n.�y 
 ξ1, ξ2, · · · , ξn � V #=6	aURF� ε1, ε2, · · · , εn � R

n #	aURF�l ϕ $�+(B#17D	 V → R
n: ϕ(ξi) = εi(i = 1, 2, · · · , n). Q.� ϕ �17_N#�8���+�A α, β ∈ V ,

α = a1ξ1 + a2ξ2 + · · ·+ anξn, β = b1ξ1 + b2ξ2 + · · ·+ bnξn, G
(ϕ(α), ϕ(β)) = (a1ϕ(ξ1) + a2ϕ(ξ2) + · · ·+ anϕ(ξn), b1ϕ(ξ1) + b2ϕ(ξ2) + · · ·+ bnϕ(ξn))

= (a1ε1 + a2ε2 + · · ·+ anεn, b1ε1 + b2ε2 + · · ·+ bnεn)
= a1b1 + a2b2 + · · ·+ anbn
= (α, β).C� ϕ ��8� 2F(b 8.2.6, 
�Gmu 8.2.7 g6G0%{�_N�8#�3�;�P��r#%�2$�gCEJ6dbW��V�v 3 
 A �
�K� m×n [T�U � A #63h#`\��#b_N�V �171�f AX = 0#X_N�Q V = U⊥, � R

n = U ⊕ V .�y 
 A #63h$ αT
1 , α

T
2 , · · · , αT

m, I αi ∈ R
n, (1 ≤ i ≤ m), �

U = 〈α1, α2, · · · , αm〉.+I AX = 0 #�AX β, C$ Aβ = 0, I (αi, β) = 0(i = 1, 2, · · · ,m). �? V ⊆ U⊥. 0X�

β ∈ U⊥, Q (β, αi) = 0(i = 1, 2, · · · ,m). 9 Aβ = 0. �? U⊥ ⊆ V . S: V = U⊥.F(b 8.2.5 W R

n = U ⊕ V .v 4 
 B �℄$ 2 # 5× 4 [T� α1 = (1, 1, 2, 3)T , α2 = (−1, 1, 4,−1)T , α3 = (5,−1,−8, 9)T�}�171�f BX = 0 #X3h�� BX = 0 X_N#=6	aURF�
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s r(B) = 2, �?X_N#%�� 2. Z9V� α1, α2 17(:�^i$X_N#=6F�MEURD1/�l
β1 = α1 = (1, 1, 2, 3)T ,

β2 = α2 −
(α2, β1)

(β1, β1)
β1 = (−1, 1, 4,−1)T − 1

3
(1, 1, 2, 3)T = (−4

3
,
2

3
,
10

3
,−2)T .NZ>�&D�"!

γ1 =
1√
15

(1, 1, 2, 3)T , γ2 =
1√
39

(−2, 1, 5,−3)T .Q γ1, γ2 � BX = 0 X_N#=6	aURF�~{
1. >W α1 = (0, 2, 1, 0), α2 = (1,−1, 0, 0), α3 = (1, 2, 0,−1), α4 = (1, 0, 0, 1) �{�_N R

4 #=6F�+S6Fh Schimidt URD�� R
4 #=6	aURF�

2. �}�171�f
{

x1 − x3 + x4 = 0
x2 − x4 = 0#X_N#	aURF���JX_NUR#�G3h�

3. 
 V1, V2 � n %{�_N V #b_N�
(1) (V ⊥

1 )⊥ = V1;

(2) V1 ⊆ V2, Q V ⊥
2 ⊆ V ⊥

1 ;

(3) (V1 + V2)
⊥ = V ⊥

1 ∩ V ⊥
2 ;

(4) (V1 ∩ V2)
⊥ = V ⊥

1 + V ⊥
2 .

4. (1) 
+ST�URT�Q|+SL$ ±1;

(2) � (+) �ST�URT�Q|$+ST�+SL$ ±1;

(3)

(

cos θ − sin θ
sin θ cos θ

)

,

(

cos θ sin θ
sin θ − cos θ

) �URT�
(4) 
 Q �-UURT�Q Q [x� (3) ^�/#g_5��
5. 
 α1, α2, · · · , αm �{�_N V ^#2kUR3hf�α � V ^#�=3h�Vt+s# BesselÆ$�

m
∑

k=1

|(α, αk)|2
|αk|2

≤ |α|2;�$?�e#�3�;�P�
α ∈ 〈α1, α2, · · · , αm〉.

6. 4� §8.1 #d 1 �d 2 ^ R
n i$Æ�g_wG#Æ�#{�_NXN#�8D	�

7. Vt V #b_N U #UR
_N�#=#�I� V = U ⊕W , �+I�A# α ∈ U ��A#
β ∈ W , )G (α, β) = 0, Q W = U⊥.

6


